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 Equations of Hyperbolas - Matching Worksheet 

Match the word problems to their answers. Write the letter of the answer 
that matches the problem. 

 
___ 

1. Find an equation for the hyperbola with 
center (8, 10), vertex (0, 10), and   
focus (18, 10). 
 

 
a.  

 
௫

ଷ଺
- ሺ௬ି଼ሻ

଺ସ
 =1 

 
___ 

2. Find an equation for the hyperbola with 
center (3, 4), vertex (0, 4), and   
focus (7, 4). 
 

 
b. 

ሺ௫ା଴.ହሻ

ଶ଴.ଶହ
	-	 ௬
ଶଶ

 = 1 

 
 
___ 

3. Find an equation for the hyperbola with 
center (0, 9), vertex (4, 9), and   
focus (6, 9). 
 

 
c.  

ሺ௫ାଷሻ

ଶହ
-	 ௬
଻ହ

 = 1 

 
 
___ 

4. Find an equation for the hyperbola with 
center (0, 8), vertex (6, 8), and   
focus (10, 8). 

 
d.  

 
ሺ௫ି଼ሻ

଺ସ
	-		ሺ௬ିଵ଴ሻ

ଷ଺
 =1 

 
___ 

5. Find an equation for the hyperbola with 
center (8, 11), vertex (9, 11), and   
focus (0, 11). 

 
e.  

 
ሺ௫ି଼ሻ
ଵ

	-		ሺ௬ିଵଵሻ
଺ଷ

 =1 

 
 
___ 

6. Find an equation of the hyperbola 
with x-intercepts at x = –5 and x = 4, and 
foci at (–7, 0) and (6, 0). 
 

 
f.  

 
ሺ௫ିଷሻ

ଽ
	-		ሺ௬ିସሻ

଻
 =1 

 
 
___ 

7.  Find an equation of the hyperbola 
with x-intercepts at x = –8 and x = 6, and 
foci at (–9, 0) and (7, 0). 
 

 
g.  

ሺ௫ାଵሻ

ସଽ
-	 ௬
ଵହ

 = 1 

 

 
___ 

8. Find an equation of the hyperbola 
with x-intercepts at x = –8 and x = 2, and 
foci at (–13, 0) and (7, 0). 
 

 
h.  

 
௫

ଵ଺
- ሺ௬ିଽሻ

ଶ଴
 =1 

 
 
___ 

9. Find an equation of the hyperbola 
with x-intercepts at x = –5 and x = 5, and 
foci at (–10, 0) and (10, 0). 
 

 
i.  

௫

ଶହ
- ௬

଻ହ
 = 1 
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